1 | 2 3 4 | 5 6 7 8
0.71 10 0.71
0.44 [18] [254] [18]
[11.2] —l
i e
I ; AN i E : I 4-Mounting Holes
_ 1 __ for M10 Screw
00 I ifufufn ———
IR¢] i '. Y
3
H U U L ‘ H
8F ¢ q ) | | (]: qp 0.43
NM™M =
-= g HH | [[dH q NH |7 [11]
13 o°eo°|8|°°k8r v
faa) fas) o) ) |
@ @ ] ?
f A = Detail A
— A Scale 1:2
\ L T /
~—
1.05 /\/i TOP VIEW
[26.7] NOTE: FOR PROPER LIFTING, HANDLING AND
0.71 10 0.71 MOUNTING INSTRUCTIONS, CONSULT MANUAL.
[18] [254] [18]
WIDTH MTG DIM 0.1
[2.5] ]
] J T
Q]EE ® ® ®
% O @ ®
L=y H
o f
N ko) |
+
5 |
o H
f 0.13
= o B [3.2]
11.42 0.1 13.85
[290] [2.5] [351.9]
VOLTAGE | CURRENT | WEIGHT HEAT
PART# | DESCRIPTION | * y/ac) A) LBS (Kg) | LOSS (W)
UFI000355 EUJ71086X 200/240 270 94.6 (43.0) 156
TOLERANCES / REFERENCES: ™ |DRAWN: DATE TITLE:
y YAS KAWA J. MATTAS 7-29-14| D1000 PWM FILTER MODULE
CHECKED: pate | DIMENSION DRAWING
J. PIOTROWSKI | 7-30-14 | UF1000355
THIS DOCUMENT AND INFORMATION CONTAINED | T DATE |
IN IT ARE CONFIDENTIAL, AND CANNOT BE Ai;R?g,BJA 7_32;514 SizE REVISION PAGE
COPIED OR DISCLOSED IN WHOLE OR IN PART| J  CAIRO 9-23-14 A R0O 1 of 2
UNITS: SCALE: WITHOUT THE EXPRESS WRITTEN CONSENT [GRIGINAL DESIGN: BarE ] DR WING
INflmm]| 1:5 |oF vaskawa AMERICA, INC. - - |DD.UFI1000355




I— 1 2 3 | 4 5 6 7 8
TERMINAL DETAILS
A (FRONT COVER AND TOP COVER REMOVED) ELECTRICAL DIAGRAM
24 2.6 2.6
_ [61] [66] [66]
Voltage Detection Terminals
; r 2 +
with M4 Screw /— /— /—
B Af r ]J J:|,C
9 o S £
@# | @) ) o PAWM Filter Module Input AC Reactor |—
MCCHE
] @ Threa- _: —m , YN, __—)x 3 ,LU Y X CI)“ RIL1
- _g_ o She gl H_%)—E e ﬂl— v,v_"(l,_@. siL2
° Suppl — T3 Y . Zr W Y, z N T
C l Oﬁ' @ °|i| e °|:°_] < ' f—L—\ L[TT i
f TS ‘
~ ~ L2 LU
rla] 1 |
O '
©
©q o |
b o & [ o ° |®] o-° |® o_° & 1
S, 0 ® :
O3
I
Grounding Terminals
with M12 screw
E 0.67 8.66
(7] [220] . 916
Main Terminals [232.6]
24 2.6 2.6
with M12 Screw(input) [61] [66] [66] 2.1
| | | [53.6]
R/L1 S/L2 T/L3 1.66
N r,o.t
F ";.;:.
— o
| e
Main Terminals input
G o
—7 Grounding Terminals
— 2 +.40 z
Res |, —~ et .
+ c » o5
88t o 2 [25¢% Sd5
=8 NDbE T92
- 2 H¥s . . S
H 5 33 _ —m%ZL Main Terminals output ©oe
= 29 c = o) s}
- B 2 S
=3 5 E
8 o O s
— g o =
6 NE -
— o
E o @) @& @) @& B
| =
5050 Main Terminals
— .39+
with M12 Screw(output
[35.245] 311220 | 311220 (output)
[7945] [79+5]
‘J TOLERANCES / REFERENCES: ™ |DRAWN: DATE TITLE:
7 YAS KAWA J. MATTAS 7-29-14| D1000 PWM FILTER MODULE
CHECKED: pate | DIMENSION DRAWING
T.:éHF’IOTROWSP(l 7-(32;14 UF1000355
— THIS DOCUMENT AND INFORMATION CONTAINED | T5°H. -
IN IT ARE CONFIDENTIAL, AND CANNOT BE A‘:;R?Vg)RJA 7-32;514 SIZE REVISION FAGE
COPIED OR DISCLOSED IN WHOLE OR IN PART| J  CAIRO 9-23-14 A R0O 2 of 2
UNITS: SCALE WITHOUT THE EXPRESS WRITTEN CONSENT [ORIGINAL DESIGN: DATE | e #
IN[mm] | OF YASKAWA AMERICA, INC. - - |DD.UFI000355




